= Replaces Toro Mid-Size Walk Behind

ﬁn Mowers Parts
36in Cutting Units

~ Rotary Parts

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Replaces Toro Mid-Size Walk Behind

Mowers Parts
36in Cutting Units

Rotary Parts
Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
Blades
10 RRB4065-1802 105-7796-03 Mower Blade - Mulcher 18 x 2.5in x 5/8 Mt Hole 2
Other Parts Availalbe
70 R108-6697 108-6697 Spindle Housing Assy 2
71 R108-6694 108-6694 Housing - Spindle 2
72 R1-323529 1-323529 Tube - Spindle - Short 2
73 R1-800861 1-800861 Bolt - 5/8-18x8 Hex Hx GR5 2
75 R110-2116 110-2116 Spacer-Bearing 2
110-2118, .
76 R119-7857 119-7857 Bearing Ball 4
77 R1-413113 1-413113 Bushing - Idler 1
1-323539,
79 R1-323539 103-2535 Spacer 8
80 R103-1330 103-1330 Guard - Bearing - Top 2
81 R98-5975 98-5975 Washer - Belleville 2
82 RC-10025 32120-8 Ring - Retaining 2
32127-25,
32128-36,
3290-357,
3296-17,
83 R3296-39 3296-22, Locknut - 3/8-16 Nylon 2
3296-39,
915663P,
99-7443
01-150-1460,
84 R323-15 01-178-0628, Bolt-Hex HD 3/8-16 x 3-1/2 GR5 1
323-15

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Replaces Toro Mid-Size Walk Behind

Mowers Parts
36in Cutting Units

Rotary Parts
Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
30-8990,
85 R32128-43 32128-43, Nut - Flanged Whiz - 3/8-16 20
3290-357
90 R103-2535 103-2535 Spacer-Guard, Bottom 3
97 R3219-6 3219-6 Nut - 5/8-18 Gr 8 Hex 2
98 R5-0652 5-0652 Spacer 1
99 R110-4888 110-4888 Washer - Spacer 2
100 R1-513208 1-513208 Washer - Spring 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




